
  



  

Run 18368 event 
10 (I think)

Pedestal and image 
are perpendicular:

Total light passed to 
sc: 1.8 10^6

Cluster reconstructed 
in the middle of the 
sensor: 4



  

Run 18368 event 
10 (I think)

Pedestal and image 
are relatively flipped 
by 180 deg:

Total light passed to 
sc: 3.5 10^5

Cluster reconstructed 
in the middle of the 
sensor: 4



  

Run 18368 event 
10 (I think)

Pedestal and image 
are “parallel”:

Total light passed to 
sc: 1.1 10^5

Cluster reconstructed 
in the middle of the 
sensor: 3
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